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® 66cm? @ 121 cm? @864 cm?

@ 1331 cm? ® 132cm?

A= AAAE ol 6710l 2& Byol=
(12x12) x 6 = 144 X 6 = 864( cm?) YH T}
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D)45cm? @ 48cm? ® 52cm?

(5x3)x3=45(7H)
1 x 45 = 45(cm3)
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D9 Bul=4x3x2=24
@2 HoE=3x3x3=27
@2 o 4x2x4=32
@] Hul=7x2x2=28
39 Bul=2x4x2=16
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5. the YAEA0) Hug FahAL.
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| 2cm
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7 7cm
ocm”
@ 24cm? @ 25cm? 3®)28 cm?
@ 30cm? ® 34cm?

(AR 2 =(7h2)x (M Z)x (&°])
=2X7x2=28(cm?)
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@ 7}2 9cm, A2 4cm, =°] 3cm
@7]-1?’5 5.5cm, A2 6cm, 0] 4cm Q) ASHA
@ 712 4cm, A2 4cm, =0] 6cm @l Z-SHA

® 7F2 12cm, A2 3cm, 0] 2.5cm Q 2-SHA
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@D 5x5x5=125(cm?)
@ 9x4x3=108(cm?)
® 5.5x6x4=132(cm?)
@ 4x4x6=96(cm?)
® 12x3x 2.5 =90(cm?)
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@900000 cm?

@ <t ©EAZe doj7k1.2m 91 A4

SR
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® 6m?

@ 5.3m?

® 900000 cm® = 0.9 m?
@12x12x1.2=1.728m?>
®1x05x2=1m?
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@(4+4)x2x4
@ 4x4x6

® (4x4)x2+ (4x4)x4
@ (4x4+4x4+4x4)x2

® Axd+4x4d+4x4d+4x4+4x4+4%x4
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® 1563 cm? @ 1455 cm? @1331 cm?

@ 1256 cm? ® 1126 cm?

~&B

FeAde BA2 9 dolrt BF Z5YH.

(BHel) = (71=) x (M=)

=(3F 249 do]) x (3 BA 29 do])

11x11 =1210]22

SHA Y gt B A2 dol= 11 em YUY T

SHA Y Fu))=(3F =AM 2|2 Zo])x

qF A9l dol)x (3 BA 2] Ho])
11x 11 x 11 = 1331(cm?)
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) (8)
(@)3840m? @ 270 cm? ® 289 cm?
@ 256 cm? ® 186 cm?

B

(SlolA 2 2F)=(EHel)
(1A £ mg)=(2%)
(B4lol) =(6x6)x2+ (6+6+6+6)x13
=172+ 312
= 384(cm?)




12.

7Y27} 20 cm , A 271 15 cmQl ZAFEE okl TshA]of th2 _13]374-
22 ASAA Y] AANEE AREUH 29 AAEE o il 2
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/, 3/0m
~-5cm
@ 108 cm? @ 112cm?
@ 236 cm? ® 253 cm?

3)206 cm?
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(3121 9] Elo])= 20 x 15 = 300( cm?)

(A5A A= Hol)
=(5%x3+5x4+3%x4)x2=94(cm?)

(2 5379 go))

= 300 — 94 = 206( cm?)
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@ 407 @ 427 3@ 447 @ 4670 @487H

gt ZolA, 7tR B& 4 U= A 5

1m= 100cm — 100 = 50 =
A 2ol & & e 47 5
2m= 200 cm — 200 + 50 = 4(7H)

mretA o 2 x4 =8(7) & €2 & AdsUH
o] 3m= 300cm®] 1, 300 + 5
2o 5 sy

mHehA] (2 x4) x 6 = 48( 7H)
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@ 15cm @12cm ® 10cm @ 9cm ® 8cm

~&B ~

25 x 12 x[_| =600




